Exercise n 0. Show that $\left(1-\frac{1}{n}\right)^n$ is bounded

$$0 \le \left(1 - \frac{1}{n}\right)^n < 1$$

Exercise n.1 Show that the sequence

$$x_n = \left(1 - \frac{1}{n}\right)^n,$$

is an increasing sequence. We have

$$x_2 > x_1$$

For n > 1 consider the ratio

$$\frac{x_{n+1}}{x_n} = \frac{\left(1 - \frac{1}{n+1}\right)^{n+1}}{\left(1 - \frac{1}{n}\right)^n} = \left(\frac{n}{n+1}\right)^{n+1} \left(\frac{n}{n-1}\right)^n$$
$$= \left(\frac{n}{n+1}\right)^{n+1} \left(\frac{n}{n-1}\right)^{n+1} \left(\frac{n-1}{n}\right) = \left(\frac{n}{(n+1)} \frac{n}{(n-1)}\right)^{n+1} \left(\frac{n-1}{n}\right)$$
$$= \left(\frac{n^2}{(n^2 - 1)}\right)^{n+1} \left(\frac{n-1}{n}\right) = \left(\frac{n^2 - 1 + 1}{(n^2 - 1)}\right)^{n+1} \left(\frac{n-1}{n}\right) = \left(\frac{n^2 - 1}{n^2 - 1} + \frac{1}{n^2 - 1}\right)^{n+1} \left(\frac{n}{n-1}\right)$$
By Bernoulli inequality with

$$0 < h = \frac{1}{n^2 - 1}, \quad \forall n > 1$$

Hence, substituing in the previous inequality

$$\frac{x_{n+1}}{x_n} = \left(1 + \frac{1}{n-1}\right) \left(\frac{n}{n-1}\right) > 1, \quad \forall n > 1$$

Also, the sequence (x_n) defined by

$$x_n = \left(1 - \frac{1}{n}\right)^n, \quad n = 1, 2, \dots$$

is increasing by an application of inequality between geometrical and arithmetic mean. Indeed, applying the inequality

$$\sqrt[n+1]{a_1 \dots a_{n+1}} \le \frac{a_1 + \dots + a_{n+1}}{n+1}$$

with

$$a_1 = \dots = a_n = 1 - \frac{1}{n}$$
 and $a_{n+1} = 1$,

we obtain

$$\bigvee_{n+1}^{n+1} \left(1 - \frac{1}{n}\right)^n \le \frac{n}{n+1} = 1 - \frac{1}{n+1}.$$

This is equivalent to $x_n \leq x_{n+1}$. Hence (x_n) is increasing. **Exercise n 2.** Compute

$$\lim_{n \to \infty} \left(1 - \frac{1}{n^2} \right)^n.$$

By Bernoulli inequality

$$1 - \frac{1}{n} < \left(1 - \frac{1}{n^2}\right)^n < 1$$

Hence, passing to the limit

$$\lim_{n \to \infty} \left(1 - \frac{1}{n^2} \right)^n = 1$$

Exercise n 3.

From the previous exercizes compute

$$\lim_{n \to \infty} \left(1 - \frac{1}{n} \right)^n.$$

We have

$$\lim_{n \to \infty} \left(1 - \frac{1}{n}\right)^n = \frac{1}{e}$$
$$\lim_{n \to \infty} \left(1 - \frac{1}{n^2}\right)^n = \lim_{n \to \infty} \left(1 - \frac{1}{n}\right)^n \lim_{n \to \infty} \left(1 + \frac{1}{n}\right)^n$$

then

$$\lim_{n \to \infty} \left(1 - \frac{1}{n}\right)^n = \frac{\lim_{n \to \infty} \left(1 - \frac{1}{n^2}\right)^n}{\lim_{n \to \infty} \left(1 + \frac{1}{n}\right)^n} = \frac{1}{e}$$

References

[1] E. Giusti, Analisi Matematica I, Boringhieri Ed, 1988.

DIPARTIMENTO DI METODI E MODELLI, MATEMATICI PER LE SCIENZE APPLICATE, UNIVERSITÀ DI ROMA "LA SAPIENZA", VIA A. SCARPA, 16, 00161 ROMA, ITALY

E-mail address: loreti@dmmm.uniroma1.it